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16a (» mwn) 2> 17a (7197 01D )
I > mwn: »"’s question of X" regarding multiple max>n which are mT91n of one ax on several mnaw
a &7 liable for each, v’p from nTi (if he has multiple m»»a with one nm, liable for each) which has only 1 moox
b  p”r n1has 2 prohibitions — on him and on her unlike naw which is unilateral
i &7z nvawith (prohibited) nuop disproves that; unilateral nnmR, yet multiple mxon
ii w77 nop are dissimilar; they will grow into age of accountability, unlike naw
1 ~77:nnnais a counter — never will be accountable, yet there are multilple nxvn »avn
2 y”r nnnais the same question as N
II  Clarification (®17): ¥"1 was asking two questions: a8 D¥jpna m79n Y 2vn and liability for multiple mnaw
a  ~27 he was asking about naw 11 and marYn naw — is each naw considered ,on 91
i And: he rejected ®™’s position (for multiple n>avn) to both
ii  Proof: X:t maw, which cannot be 8" (per rule that no liability for ax D1pna nToIN)
1 and: rule about mmw — if he forgot marYn on multiple mnaw, liable for each ar (but not per mnaw)
2 therefore: y™ was clear about naw nnw (days between are a npbnn nY*1); question was about maron MY
b »ax: he was asking about maxr5n N1t and he accepted ®"’s answer
i But: he was clear that max9n niw doesn’t generate multiple n7avn — separate ninaw are not like mp>mn pan
¢ ~7on 1. he was clear that in case of marYn NI Naw 1171, each naw is like a separate body — multiple 2avn
i But: his question was about naw nnw — are days between a npbnn ny»p
ii ~ And: he accepted 8"’s ruling that the days between are npnn ny»1 (i.e. " hold that both maw allow for multiples)
iii  Proof: :®’ naw ®navn - 2" finds liable if he wrote 2 letters in 2 mmbyn, but not on separate MNaw (ww=pYns NY*1)
1  But: in another ®n»93, 3 rules that 2 letters over 2 ninaw is 2»n
assumption: ¥ agrees with ™
resolution: exempt with naw n1r (days between are phn% ny>1); liable with mar5n 11, as NYW 18NS NP PR
but: ®a7’s approach doesn’t allow for 1108 with either naw (days between not a p5>n% Ny, MNaw are not o)
~27 2" follows 8" he sees mnaw as separate bodies and the two mnaw don’t merge for avn
(a) Challenge: 3" “agrees” with nman -he disagrees elsewhere (in a parallel case)
(b) Can’t be: about MW *¥nY NY*1, as X" agrees with him (in re: na'n2)
(c) Proposal: »rn Yy nnR (when all naxYn is done before naw and final piece to make it 1w3 is done on Naw)
(i) Rejection: ™ finds liability there as well (no disagreement)
(d) Rather: must be o1 "7’s dissent from nnan - if you take %2 Myw out to one 1M and the other to other 1M
d  Testing approaches against out 13w R™'s proof from T — only works if his question was maryn niw; if naw nnw, the proof
should’ve used "mT” (answer: there was a version of the response in which he used "mm”)
i Challenge (to n”): what are the “intervening days” parallel in nT1?
1 Answer: if she was n210 between mx»a — all in one noyn-state.
ii ~ Challenge to n”z. why did 8" respond with "nvp” (plural)?
1 Answer: he meant mvp as a generic category, not necessarily multiple 191
III  Alternate version of entire interaction (x”aw"): ¥"’s question was about n71 and X"’s answer was from naw
a  Question: multiple mx>a with one wife who is n1 within one n%yn
b Answer: multiple mxon; 1"p from naw, which has only 1 nnR (unliteral); then nm, in which both are pinnn —1p
i y”r dissimilar — naw has multiple means of violation
ii &7z mvp disproves that — only one means of violation, yet multiple liabilities for multiple mx»a
1 77 dissimilar — mavp are distinct paw, unlike his wife (n11)
2 »77 nnna disproves that, as it is one animal yet there are multiple liabilities for multiple nxa
(a) p”r same question applies to nnn1 as to NM
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